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QUESTION BOOKLET CODE
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BT ‘T *WE%@H@W/WRIWEN TEST FOR THE SELECTION OF FIREMAN ‘A’

faf@a gdretr iy faf2/Date of Written Test: 23.06.2018

FaT®& 379/Max Marks: 60 qreTr T 31af®/Duration of Test: 1e/Hr. 307 ./Mts

1. AT HF aacq............... g1/Density of kerosene is
[a] STeT & "efcd & sR1&X/Same as water
[b] STeT & usica & &A/Less than water
[c] ST & "efca & 31f@%/More than water
[d] Ster & geica & ga=l/Double than water

PR = S 9 STH ST g1/ Water freezes at
[a] 32°F [b] 100 °F [e] 32°C [d] 100°C
3. Sf& STl STH ST § af 38T :1ad+7/ When water freezes, its volume

[a] gear §/Decreases [b] g §/Increases
[c] 3raRafda/No change [d] 10% o &+ gY SI1aT g/becomes less by 10%

4. TP AT T FT HIAT oo, g1/Volume of one litre of water is
[a] 1000 c.c [b] 1200 c.c [c] 1000 cum [d] 800 c.c

5. fordr gea s Bisar 21T & dr 3@ehr aR S &1 gar eemse)

Find the of perimeter of circle whose radius is 21 m
[a] 132 cm [b] 132m [c] 1320cm [d] 1320 m

6. 20 #. siarg T 10 7. TS arel Rl areh & Siear & |1y e v 1.0 A WS Fe qrr F e

hl 9T fdTSU |

Find the area of 1.0 m wide foot path laid along the fencing of a park of Length 20 m
and width 10 m

[a] 560m?*  [b] 56 m? [c]5600cm? [d] 560 cm >

7. 3.0, 4.0 qUT 5.0 #Y. gredt & Fekt T 37T & &YTthel T IAT AT

Find the area of a triangle whose sides are 3.0 m, 4.0 m and 5.0 m
[a]36m*>  [b] 360cm?* [c]6m? [d] 6 cm?



8. 127 x 12#N aﬁa#ﬁﬁaamlm.mﬂéﬁgwaﬁﬁwﬁﬂtmmmﬁaaa?aﬂwww

[SEUEN
Find the volume of a liquid that can be contained in a trough of 1m depth made out of 12
m X 12 m sheet

[a] 144 m®  [b] 144 em® [c]100cm’ [d] 100 m’

9. '6m.maé@§ﬁmmﬁmmmmﬁm$wwwml
Find the volume of a sphere that can be carved out of a cube of side 6 m
[@]367m® [b] 12z m> [c]36mem® [d]360mm’

10. e FRIOT & ST PN BTG oo gl

The sum of interior angles in a triangle is
[a]360°  [b] 270° [c]180° [d]90°

1. ERET G STerda T qoIeT ....ccccc. ¥1/The safety device ELCB stands for -
[a] Earth leakage circuit breaker ~ [b] Electric circuit bond
[c] Electronic circuit barrier [d] 3uda # & #1$ wicT/None of the above
12. MFAHATH &aRT @ ST §1/0hm’s law is given by
[a] V=R [b] 1=V/R
[c] R=VI/ [d] 3odea @#f/All of the above
13. HTST AT MW oo de &1 fretell &T iRy a1 FhdT &l

Human body can resist electric current up to
[a] 20 milli amp [b] 2amp [c] 200 amp [d] 20 amp

The mathematical equation of Boyle’s law is
[]P/V=k [b] PV=k []Pk=V [d]Vk=P
15 oy, Las i g1/Copper is
[a] 3reTers gere/Non conducting material
[b] ek gere/Insulating material
[c] =T gerel/Conducting material
[d] 3ad # & #1$ wiei/None of the above

16. 38 ..o g1/Rubber is
[a] ek gere/Insulating material
[b] Tk gare/Conducting material
[c] ek Ferei/Non insulating material
[d] 3o wef/All of the above

17. ST TG o £1/Density of water is
[a] 100kg/m>  [b] 1000Kg/em’ [c] 1000 Kg/m 3 [d] 100 Kg/cm®



18. 3/e gyt & faeiler Fiet T el 6T &THaT & FROTIH ................ FEd ol
Due to the ability of water dissolve many substances, it is described as

[a] GrdsilfAe fdemae/Universal solvent
[b] ardeiifAs aRer/Universal fluid
[c] GrasiifAe gerel/Universal substance
[d] @raeitfAe ga/Universal liquid

19. Sacer=ieT g va gTed 5 § (S/farae)|
Flammable liquid is a combustible liquid (which)
[a] 37T §=ATaT 8/Extinguishes fire
[b] 3mETelr & 3791 97 ST g/Easily catches fire
[c] 3mmeT & &gar ¢/Fights fire
[d] 39 & & &I g1/ None of the above

20. 5ot & leT Sacterelier ga 161 o/Which is not flammable liquid
[a] 9gTe/Petrol  [b] Srate/Diesel [c] fAgY &1 det/Kerosene [d] STel/Water

21. Terdish 1 qut &9 8/LPG stands for

[a] Light Petroleum Gas [b] Liquefied Petroleum Gas

[c] Light Perfect Gas [d] 39 F @ #1$ 781/ None of the above
22. TS gI/LPG is

[a] arg & s{/Heavier than air [b] arg & geh/Lighter than air

[c] 31meT & &T5ar §/Fights fire [d] 39 @ & #1$ 7E1/None of the above
23, oISl & AT AT ... gl/Calorific value of LPG is

[a] wrehfcies 3 & &aA/Less than natural gas

[b] srehfcish 3% & sRTe/Equal to natural gas

[c] wrehfaieh 3 & ITaca/Higher than natural gas
[d] 39dera & @ 1S #g1/None of the above

24. e SISIHTFATSS T THATAR G ..cooooeven gl

The chemical formula of Carbon dioxide is
[a] CO [b] CO, - [c]H,0 [d] CO;

25. fwfaf@a # & 3o 39 wis-ar g2/Which of the following is an inert gas?

[a] ArsgIs=T/Nitrogen [b] e+ sr33itFaTss/Carbon dioxide
[c] &188Is=i/Hydrogen [d] &frma/Helium
26. a1y YN THATH HTqUT FT .......... g1/Full form of air pollutant SPM is
[a] Solid Particles Motion [b] Solid Propellant Mass
[c] Suspended Particulate Matter [d] 39 # & &1$ FE/None of the above



27. SO HYUTHRA ... g1/’ ISRO’ stands for

[a] Indian Space Research Organization
[b] Indian Science Research Organization
[c] Indian Social Research Organization

[d] 39 # & #1$ gt/ None of the above
28, o, & HIYT g SRIFNC T 3TINT AT ST 8l

Barometer is used to measure
[a] ArgATsT/ Temperature [b] are/Pressure [c] 3ad=1/Volume [d] 8m/Weight

29. g1 dT 318 Sia-Hr §2/Which is the unit of pressure
[a] Kg/em ? [b] uresher/Pascal  [c] sR/Bar [d] 3w @ef/All of the above

30. 3fter gr39 3R i §2/Which is the green house gas
[a] FrdeT 3r83ifeFaTss/Carbon dioxide [b] HRASI/Oxygen
[c] gTB3re=i/Hydrogen [d] 3udec @eM/All of the above

31. forely g TTs{t T 3MUR b’ U7 391$ ‘h’ 1 SHAT BTG .ooo gl
Area of a parallelogram whose base is‘b’and height ‘h’ is
[a] bh [b] 2 bh [c] bh [d] 1/2 bh
32. argHsS A a1g & a1d 4T geica/Air pressure and density in the atmosphere
[a] cfareir & @7 ST @/Increases with altitude
[b] Tarer & @2 eedr 8/Decreases with altitude
[c] @sf Fargat 7 @A (& ¢/Remains same at all heights
[d] 3wdea @sfi/All of the above

33. ush AR RT3, fwss ared ‘2’ AR ‘b’ g aurFuT ‘¢’ B, Refaf@a # a sla-ar wgrg?
In a right angled triangle whose sides are ‘a’, ‘b> and hypotenuse ‘c’, which of the
following is correct

[a] a2+ b? = c? [b]b2=cz+a
[c] b2+ c? = a? [d]a?- b2 = ¢

2
2

34. forel wHaTg F3ehIoT #/In an equilateral triangle
[a] =t ared s=TeR A&7 8/All the three sides are not equal
[b] Tefr 3icwsT HIvT §3Te §/All the interior angles are equal
[c] sy 3igwetr sIoT sRTe} Aa1 8/All the interior angles are not equal

[d] 39ea |@ef/All of the above
35. SRTER AY & qrea! & Jebcl Ueh 31 ... g 1/A rectangle with equal sides is a
[a] @@1/Square  [b] &=1/Cube [c] ged/Circle [d] B=IoT/Triangle
36. s AT, fHeT U ared ‘a’ qur fasol 1 §drgERrared ........... gram|

In a rectangle with one side ‘a’ and diagonal ‘I’, the other side is
[]V(1?+a%)  [b] V(a®-1%)  [c]N(1%-a?) [d]V(1-a)
4



37. Tt ofars & cfiet areat & garet el Prapror &l ... e &
A triangle with three sides different of (in) length is called
[a] ¥efasTg Psrs/lsosceles triangle [b] ﬁﬂfﬂiﬂg f3sst/Scalene triangle

[c] wamg Pehor/Equilateral triangle [d] wA=RIvT FeRtoT/Right angle triangle

38. §IB3ISTeT ... g1/Hydrogen is

[a] 3=a e FF/Highly combustible gas
[b] 3tfshr A/Inert gas

[c] 31eTed ?F/Non combustible gas

[d] 3wded & @ F1$ 7E/None of the above

39.pHUS ............ & S fohelt STelter faerarer 1 srerar a1 aTRar fafafése weet & fore sgardt foa smar 8

pHis a --------- used to specify the acidity or basicity of an aqueous solution
[a] FfFA/Device [b] faerg=1/Solution
[c] ergaToTRIT ATgsha/Logarithmic scale [d] 3geuT/Instrument
40. 9FSTT AT pH AT ... gremi/pH value of drinking water shall be
[a] 6.5 9 8 d/6.5 to 8 [b] 6.0 & &#H/Less than 6.0
[c] 8 & 31f&//More than 8 [d] 5.0 @ &#/Less than 5.0
41. 79 %A pH & I faeraet ............. gd & 1/Solutions with pH less than 7 are
[a] &Tra/Basic [b] de¥a/Neutral
[c] 3FeRr/Acidic [d] 35 @eM/All of the above
42. e HTAMHAS ..o glar g I/A fire extinguisher is

[a] Ueh 3M@UT 3UaiUT/A drawing instrument

[b] ueh 31171 Tq@eh IfFA/A fire detecting device

[c] 39T 3c9eT hT=aTell JfFA/A fire generating device

[d] ueh wfoha 31f3e XeToT IfFc/An active fire protection device

43. SOIFFGYA ...ooovvvvrerneeene grar g I/Electrocution is
[a] faegd gard & o §U &g 91/Minor injury caused due to electric shock
[b] faegd ward & swror §§ #cg/Death caused due to electric shock
[c] TraTafas gaer & FoT §§ are/Injury due to chemical attack
[d] 3T & §$ gelesT & We/Injury from a fire accident
44. Ty arereh 7 faegd gfai .......... T AT EIT &

The electrical resistance of a conductor is a measure of
[a] faega T arere & fd=$/Difficulty to pass electric current

[b] a9 grers H &f&ars/Difficulty to pass heat
[c] wehrer Areret # &fSers/Difficulty to pass light
[d] 39d%a # & #1$ 761/ None of the above



45. fagga wferie &1 g g/Inverse of electrical resistance

[a] arfdar/Capacitance [b] faegd arershar/Electrical conductance
[c] 3/T=Te/Resonance [d] 3% # & s =AEl/None of the above
46. 31T &1 GUEHT & GRTeT EHTEANE FHEI: ..o & FROTEIAT ol

During a fire accident 'asphyxiation' is mainly due to
[a] 3raft% 43 & ®RUT Hef¥d arg/Contaminated air due to excessive smoke

[b] setergierger=i/Electrocution
[c] arsfr gar/Fresh air
[d] 3udea # & #1$ 7€/ None of the above

47. Freetehc Ut & Feaee/ et T RO ..o BT el
Effervescence/fizz in carbonated drinks is due to

[a] faehet 3iferdiste/Dissolved Oxygen
[b] faehet grsgisre/Dissolved Hydrogen
[c] faehet sisgIstsi/Dissolved Nitrogen

[d] faeh= Freet sTE3iteFaTss/Dissolved Carbon dioxide

48. o, H $uaT & ®9 F ga TSIt &I 39N faham ST &
Liquid Hydrogen is used as fuel in
[a] 3ffer AtaTsel/Auto mobiles [b] IFe/Rockets
[c] gams-STgTstAeroplanes [d] Sters/Ships
49. wa@ oy e dea/The lightest element
[a] 3ferfS=1/Oxygen [b] Ar8gIS=A/Nitrogen
[c] gr8grat=/Hydrogen [d] &ferg#@/Helium
50. 3% IAITAAT & fAATOT 8 TIFT T o gl

The gas used to make fertilizer ammonia is

[a] g@ars=/Hydrogen [b] 3mis/Argon [c] 3ffaia/Oxygen [d] @ifera#/Helium
51.77°Fuoe. Farax £1/77 ° F is equal to

[a] 55°C [b]45°C [c]25°C [d]35°C

52. AfCEIT & 0 ATIHTT T BRAGIST A 0 F d&elel ol TF

Formula to convert temperature in 0 Celsius to 0 in Fahrenheit
[a] (C*9/5)-32  [b] (C*9/5)+ 32 [c] (C*5/9) + 32 [d] (C*5/9) — 32

53. ared AT & HTAR FHEOT v gl
The equation as per Charle’s law is
[A]V1xV, =T 1xT, [b] VixT; =V,xT,
[c]Vi/Ty =V,/T, [d] 3uderd & & e 8t €1/ None of the above



54. AIHST ATIATT FAT &S F TADSM ... gl

LPG at atmospheric temperature and pressure is
[a] g 1.58 2 a7 ok #/1.5 to 2 times heavier than air

[b] A & 1.5 @ 2 a7 e geh1/1 .5 to 2 times lighter than air
[c] a1g & 87X & s&/Equal to the weight of air
[d] 3uderd # & &I 7€/ None of the above

55. forer RfdsT T 3adsT oo ZarT T Srar g

The volume of a cylinder is given by
[a] 2nr?h [b] nr °h [c]127r?h  [d] 1/3nr *h
56. TS hr Frefr a1 ST SATAT oo EIRERETGIRS

A yellow or red flame of LPG indicates .
[a] 319t qg=t/Incomplete combustion [b] qut gg=/Complete combustion

[c] 317 &&=7/Super combustion [d] 39dea # & 1S 7€/None of the above

57. 14 A IR AT 18 WHY. FaT$ F Jarer bl 2feh obr it ... el

Volume of a cone of base 14 cm and height 18 cm is

[a] 3696 cm * [b]3696m> [c]924cm® [d] 924 m°
SS.WQ@$Wme#WmWW ................. gl

The volume of a sphere with base and height of size same that of a cone is
[a] 2i% & AT %1 gem/Double the volume of the cone

[b] 2 & 3T & faTa1/ Three times the volume of the cone
[c] 21% & 3« & @laer/Four times the volume of the cone
[d] <7 & 3raciet a1 3mar/Half the volume of the cone

59. T sugt & 3er orarch § A foher TReT 39Tt Y 39T AT
Safety steps that one should do if clothing catches fire are

[a] %, ¢, &E/Stop, drop, roll [b] &¥$, w&/Run, jump
[c] =ref, &/ Walk, jump [d] 39ded # & 1S g7/ None of the above

60. TIATTRT F & Uah, @R &1 90T &9 8/One of the first aid steps CPR stands for

[a] Cardiac path resistance [b] Cardiopulmonary resuscitation
[c] Cardiac path revision' [d] 3ud#d & & #1$ 7€ /None of the above



